
Chapter 9 Formula Sheet

yi = ¯0 + ¯1xi + ²i

s2
LF =

1
n ¡ 2

X
(y ¡ ŷ)2 =
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ANOVA TABLE (FOR TESTING H0: ¯1 = 0)
Source SS df MS F
Regression SSR 1 SSR=1 MSR=MSE
Error SSE n ¡ 2 SSE=(n ¡ 2)
Total SSTot n ¡ 1

yi = ¯0 + ¯1x1i + ¯2x2i + ¢ ¢ ¢ + ¯kxki + ²i
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where ¾̂ŷ = sSF ¢ A comes from a printout
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F =
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=
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ANOVA TABLE (FOR TESTING H0: ¯1 = ¯2 = ¢ ¢ ¢ = ¯k = 0)
Source SS df MS F
Regression SSR k SSR=k MSR=MSE
Error SSE n ¡ k ¡ 1 SSE=(n ¡ k ¡ 1)
Total SSTot n ¡ 1
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det(B ¡ ¸I) = 0

xA
i =

8
><
>:

1 if the response y is from level i of A
¡1 if the response y is from level I of A
0 otherwise

and

xB
j =

8
><
>:

1 if the response y is from level j of B
¡1 if the response y is from level J of B
0 otherwise

...

For 2p studies and the “all high” e¤ects use:

xA
2 = ¡xA

1 =

(
1 if the response y is from the high level of A
¡1 if the response y is from the low level of A

xB
2 = ¡xB

1 =

(
1 if the response y is from the high level of B
¡1 if the response y is from the low level of B

...
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